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Ejercicio 1

a) αz(t) = −1, 6 rad/s3 t

b) αz(t = 3 s) = −4, 8 rad/s2 ; αz = −2, 4 rad/s2

Ejercicio 2

a) |−→ω (t = 6 s)| = 15, 6 rad/s

b) ∆θ = 46, 8 rad

c) Rev = 7, 45

d) |−→v | = 4, 68m/s ; |−→a | = 73, 0m/s2

Ejercicio 3

|−→ω | = 1, 04 rad/s

Ejercicio 4

a) Io = 0, 064 kgm2

b) IAB = 0, 032 kgm2

c) Idiag = 0, 032 kgm2

Ejercicio 5

Io = 2, 6 kgm2

Ejercicio 6

Io = 8, 52 kgm2
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Ejercicio 7

d = 2
3 R

Ejercicio 8

a) Io = 92 kgm2 ; KR = 184 J

b) De arriba hacia abajo: |−→v1| = 6m/s ; |−→v2 | = 4m/s ; |−→v3 | = 8m/s. KT = 184 J

Ejercicio 9

a) Io = 0, 0225 kgm2

b) M = 0, 50 kg
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